Counting in 2’s

Make a Counting in 2’s worm. Make an apple and cut slits in the apple for the
worm to slide through. Count in 2’s as the worm slides through.
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Count in 2s and colour in the grid:

1

2

3

4

D

6

7/

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

2+ 2=

2+2+2=
2+2+2+2=
2+2+2+2+2=
2+2+2+2+2=
2+2+2+2+2+2-=



Complete the following sequences:

az & 6 ______ L - [ R 38 36
b)26 22 ______ L R 14 @12 1% ______ 8 22
€) o _ 26 28 30 ______ 34 e 14 12 10

ds6 ______ ______ 40 38 36 e 56 58 60 62
e)28 ______ 32 34 ______ 38 PR o o 66 64

Complete the number square below:

1 3 5 7 9

n 13 15 17 19

21 23 25 27 29

31 33 35 37 39

7| 43 45 47 49

51 53 55 57 59
Challenge

How far can you count in 2s?
What happens when you get past 1007
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